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BOOKLET A 

Instructions to Pupils: 

1. Do ndt open this booklet until you are told to do so.

2. Follow all instructions carefully.

3. Shade your answers in the Optical Answer Sheet (OAS) provided.

4. You are not allowed to use a calculator.

5. Answer all questions.
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Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. Questions can be found at the end of the worksheet. 
 
1. 1 big box = 2 x 2 x 2 = 8 small boxes 
 1 small box = 48 cubes 
 8 small bexes = 48 x 8 = 384 cubes 
 

 
2.    Amy  Samantha Difference 
 Ratio now  4  7  3 
    8u  14u  6   (x2u) 
 Ratio 10 yrs ago 1  3  2  
    3u  9u  6   (x3u) 
 Difference between 10 yrs = 14u – 9u = 5u  
 5u = 10 
 u = 2 
 Samantha’s age now is 14u = 14 x 2 = 28 
 

 
3. Hassan’s time = 160 – 45 – 10 = 105 sec 
 = 1 min 45 sec 
 

 
4. Total = 3n + 4 + 3n + 4 + 4n = 10n + 8  
 10n + 8 = 128 
 n = 120 ÷ 10 = 12  
 

 
5. Total paid = 4.60 + 4 x 4 = $20.60 
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6.  

  

 

 

 

 

         Ans:   See figure 

 

 

7. Total cards = 75 + 115 + 60 + 120 = 370 

 Total paid = $2 x 200 + $1.50 x 100 + $0.60 x 70 = $592 

 
 
 
 
 
 

Ans:  $592 
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10. a) 

 Jan = 8u 

 Feb = 12u 

 Increase = 12u – 8u = 4u 

 Percent increase = 
4𝑢

8𝑢
 x 100 = 50% 

 b) 

 Average = 45 

 Total = 45 x 4 = 180 

 Total unit – Jan to April = 8u + 12u + 22u + 18u 

 = 60u 

 60u = 180 

 u = 3 

 18u = 18 x 3 = 54 

Ans:  a)  50% 

b)  54 

 

 
11. a) 

 ∠RCS = ½ x (180 – 82) = 49° 

 ∠SCD = 90 – 49 = 41° 

 ∠SDC = 41° 

 ∠PDS = 90 – 41 = 49° 

 ∠QSD = 180 – 49 = 131° 

 b) 

 ∠DPQ = 131° 

 ∠APQ = 180 – 131 = 49° 

 ∠AQP = 180 – 90 – 49 = 41° 

Ans:   a)  131° 

 b)  41° 
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12.  

45u 

Given to 

mother = 10u 

Remainder = 35u = 5 x 7u 

         

 

 Let number of beads at first = 45u    (9 x 5) 

 Number of beads given to mother =  
2

9
 x 45u = 10u  

 Number of beads for sister = 
1

5
 x 35u + 22 = 7u + 22 

 Left = 45u – 10u – 7u – 22 = 28u - 22 

 28u – 22 = 34 

 28u = 34 + 22 = 56 

 u = 2 

 Number of beads at first = 45u = 45 x 2 = 90 

Ans:  90 

 

 
13. a) 

 180 bottles = 180 x 150 = 27 000 cm3 

 Total volume of water = 27000 + 5768 = 32 768 cm3 

 = 32 x 32 x 32 

 Length of cubicle tank = 32 cm 

 b) 

 40 min → 32768 cm3 

 1 min → 32768 ÷ 40 = 819.2 cm3 

 

 

Ans:  a)  32 cm  

  b)  819.2 cm3 
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14. a) 

 ∠DEG = 45° 

 ∠EKJ = 180 – 45 – 58 = 77° 

 ∠DKE = 180 – 77 = 103° 

 b) 

 ∠AFJ = 58° 

 ∠KAF = 77° 

 ∠BAC = 60°  (equilateral) 

 ∠CGF = 180 – 40 – 90 = 50° 

 ∠CQG = 180 – 77 – 60 = 43° 

 ∠ACG = 180 – 43 – 50 = 87° 

 

         Ans:  a)  103° 

          b)  87° 
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15.  

10% Matthew spent 90% $72 

60% Cayden spent 40%  

 In the end, (not to scale) 

Matthew 

Left 

10% 

Plus  

10% of 

$72 = 

$7.20 

 

Cayden 

10% 

$7.20 50% - $7.20 

1u 1u 

 50% - $7.20 = 10% + 7.20 

 40% = 14.40 

 100% = 14.40 x 100 ÷ 40 = $36  

 Amount Matthew had at first = 36 + 72 = $108 

         Ans:  $108 

 

16. a) 

 Number of unshaded square = 2n + 1   (n = figure no) 

 21, 31 

 b) 

 Total number of squares = 2n + 1 + n = 3n + 1 

 = 3 x 22 + 1      (n = 22) 

 = 67 

 c) 

 2n + 1 = 79 

 n = ½ x 78 = 39 

Ans:  a)  21, 31 

 b)  67 

 c)  39 
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17.  

 

Area of shaded star above = 30 x 30 – 3.14 x 15 x 15 = 193.5 cm2 

Area of unshaded arc on right hand side of figure  

= ¼ ( area of big circle minus area of 4 small circle minus area of star above ) 

= ¼ ( 72 x 72 x π – 4 x 30 x 30 x π – 193.5) = 262.485 cm2 

Shaded area of figure = 262.486 x 3 + 193.5 = 980.955 cm2 

  

  

  

         Ans:  980.955 cm2 

 




